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Introduction

» Modern economies undergo significant short-run fluctuations in aggregate output
and employment.

» These fluctuations don’t really follow a pattern that we can heuristically predict or
forecast easily.

» We do, however, know that these fluctuations have some intriguing characteristics.

» Understanding the causes and characteristics of these aggregate fluctuations is a
central goal of macroeconomics.

» Critically, by understanding these factors, we can build models which can replicate
business cycle moments and to hopefully consider optimal policy responses to these
fluctuations.
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Environment and Assumptions

\4

Build a dynamic stochastic general equilibrium (DSGE).

» Our DSGE model will feature perfectly competitive markets without externalities,
asymmetric information, missing markets, or other imperfections.

» The Ramsey model seems like a very good candidate to start with.

» We know that absent of any shocks, the Ramsey model with converge to a balanced
growth path, and then grows smoothly.

> It then seems sensible to incorporate business cycle fluctuations and shocks into the
Ramsey model.

» These shocks will thus change the actual productive capacity of the economy. Hence,
the modified Ramsey model is known as the Real Business Cycle (RBC) model.
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The Ramsey Social Planner’s Problem




The social planner’s (centralised) problem |

» There are a few ways to set up an RBC model: either from the perspective of a
benevolent social planner, or by setting up competitive markets and finding market
equilibria.

» The Ramsey social planner seeks to maximise social welfare subject to the economy’s

resource constraints; whereas in competitive markets agents optimise their utility or
profit given their endowments.

» In the RBC model, both approaches yield the same outcome - an important point that
we will later come back to.

» In macroeconomic models, solving the Ramsey planner’s problem yields the social
welfare maximising, Pareto-efficient solution. This is because in other models we will
look at, markets are not fully competitive or efficient, so the competitive equilibrium
will be unable to achieve a first-best outcome.

Planner’s Problem




The social planner’s (centralised) problem I

» The Ramsey planner solves the following problem:

max  E; Z B°U(Crys, Neys), (1)
{CDNt} s=0

where C; is aggregate consumption, N; is hours worked or aggregate labour supply,
and 3 is the representative household’s rate of time preference (their discount factor).

> Note that the household experiences disutility from supplying labour.
> Alternatively we could write:

U(Ct, Nt) = u(Ce) — v(Ny),

where u(-) and v(-) are subutility functions.

> In words, the Ramsey planner wishes to maximise households’ welfare by assigning
the optimal amounts of consumption and labour supply each period.

Planner’s Problem




The social planner’s (centralised) problem Il

» Furthermore, the Ramsey planner wishes to maximise (1) subject to the following
economy-wide resource constraints:

Ye =G+ Iy,
Y = AcKE NpTE,
Ke =l + (1= 0)Ki—,

and a process for the technology shock term A;:
n 11D 2
InAt=(1—p)InA+pInA¢_+ e, ee ~ N(0, 0q),

where Y; is output, I; is investment into new capital, A; is total factor productivity
term, K; is productive capital, and ¢ is the depreciation rate.

Planner’s Problem
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Stochastic dynamic programming? |

» The question that arises now is: how do we go about maximising (1)?

» The main issue is that we have a stream of future consumption and labour decisions
to make, constrained to the fact that we don’t know what A; will be in the future.
Technically, the best way to solve this problem is using stochastic dynamic
programming.

» But we don’t have time for that.

> Instead, we will use a trick and simplification: we treat the Ramsey problem as a
deterministic problem and then substitute E;X, ; for X; ;.
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Stochastic dynamic programming? Il

> Suppose
N
= piF(a;,x)
j=1
which is maximised by setting

Zp] _Et ( ) o,

so, the FOCs for maximising E;F(x) are just E;F'(x) = o.
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Stochastic dynamic programming? Il
» Now, we can combine our constraints to simply get:
AKE NG = Co + Kp — (1 — 6)Ke_q. (6)

Then, we can set up the Ramsey planner’s problem as a Lagrangian:

L=E) B [U(Cris, Niss)]
=0 (7)
+Ee Y B Aers [ArrsKeis NGy e + (1— 0)Keps—r — Cops — Keps] -

5=0

» But this is still a hideous equation to work with.

» So, what can we do? This is macroeconomics, so we will use another
trick/simplification.
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Stochastic dynamic programming? IV

> We want to take a snapshot of how the variables behave in the period in which we are
optimising in, t. Most of our variables are denoted in period t with the subscript t, so
they're fine.

» But we have K;_, and A;_, in the law of motion equations for capital and technology,
respectively.

» So, what we can do is set up the Lagrange with the objective function based in period
t, a single constraint dated in period t, and then we can add in a second constraint
from period t + 1.

» Then, the period t variables appear as:

L = U(Ct, Np) + Ae(AKEaNg ™ + (1= 6)Ke—q — Gt — Ky)
+ /BEt)‘t-H (At+1KtaN2;1a + (1 - 6)Kt - Ct+1 - Kt+1) .

> After that, the period t variables don’t ever appear again.
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Stochastic dynamic programming? V

> So, the FOCs for the period t variables consist of differentiating this equation with
respect to these variables and setting the derivatives equal to zero.

> Then, the period t + i variables appear exactly as the period t variables do, except
that they are in expectation form and they are multiplied by the discount rate 3.

> But this means that the FOCs for the period t + i variables will be identical to those
for period t variables.

» So differentiating this equation gives us the equations for the optimal dynamics at all
times!
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Stochastic dynamic programming? Vi

» Thus, we yield the following FOCs:

L, =Uc(C) — A =0, (8)
Y

Lk, = —At + BEAL <alt<+1 +1-— 5) =0, (9)
t
Y.

Ly, = Un(Ne) + A1 — a)N—t =0, (10)
t

Ly, = AKEANTY + (1= 8)Keq — G — Ky = 0. (11)

Easy!
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The consumption Euler equation |

» Define the marginal value of an additional unit of capital next year as

Yein
. (% +1-0) o
Riyh = E¢ Q
t

, (12)

where Q; is the real price of capital. So Q;,,/Q; can be considered as the “capital gain”.

» Recall that | mentioned that the RBC model is nested in a environment of perfectly
competitive markets, with full information and complete asset markets. We're going
to make use of that last point here — because of complete financial markets, we're
going to declare the following “no-arbitrage condition”:

R = R¥. (13)
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The consumption Euler equation I

> For reasons that we will explore later, this condition just says that the gross return on
capital, R¥, is equal to the risk-free gross real interest rate, R,. Our assumption of
perfectly competitive markets also means that the price of capital is constant,

Q; = Qt+1 = .= QH,S,VS > 1.
» The FOC for capital (9) can be written as:

At = BE¢ [AraReqa] 5
and this can be combined with the FOC for consumption (8) to yield:
Uc(Ct) = BE¢ [Uc(Cei)Reyal s (1)

which is nothing but the consumption Euler equation - sometimes referred to as the
Keynes-Ramsey condition.
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The consumption Euler equation IlI

> As a quick refresher, we can interpret the Keynes-Ramsey condition as: decreasing
consumption by A today at the cost of Uc(C;)A in utility; invest to get Ry, A
tomorrow; that investment is worth SE; [Uc(Ceyq)Res1A] in terms of utility today; and,
along the optimal path, an agent must be indifferent between these options.

> If we assume CRRA utility and a simple linear technology for the disutility from
supplying labour, we can write the utility function as:

C1—0’
U(Cta Nt) = 1 !

— 0

- 77Nt7
then the Keynes-Ramsey condition (14) becomes:

Ct_g = 5Etct_+a1Rt+1,
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The consumption Euler equation IV

and the intratemporal Euler equation for labour and leisure, derived from (10),
becomes:
Y Y,
—n+C°(1—a)-L =o.
N;
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Equilibrium and log-linearisation |

» The RBC model can be defined by the following seven equations:

Yt == Ct + It? (15)

Y, = AKE NI, (16)
t

Kt — It + (1 - 5)Kt—17 (17)

Y
Rt:Oé t +1—(5, (18)
Kt

C; ° = BE; [C{QRHJ ) (19)
Yt n o

— = C 20

Nt 1—a to ( )

InA; = pInA¢_q + &1, (21)
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Equilibrium and log-linearisation Ii

so we have seven equations in seven unknown variables. Notice that a lot of the RBC

model equations are non-linear — and we haven't discussed any strategies of solving
systems of stochastic non-linear equations.

» So what can we do? Again, this is macroeconomics, so there’s a trick: we linearise the
model equations via log-linearisation, from which we can then solve the model.

> The idea is to use Taylor series approximations. In general, any non-linear function
F(x:,y:) can be approximated around any point F(x;,y;) using the formula:

F(xe.¥t) = FOXE, Ve ) + F(Xt, i) (e — X£) + Fy (Xt yi ) (Ve — ¥5)
+ Fre (X5, Y2 ) (Xe — Xt ) + Fuy (X8, Ve ) (Ve — V)2 + Foy (X2, V2 ) (e — X2) (Ve — Vi) + ..
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Equilibrium and log-linearisation Ili

» If the gap between (x¢,y;) and (x;,y;) is small, then terms in second and higher
powers and cross-terms will all be very small and can be ignored (i.e. a first-order
Taylor series approximation will suffice), leaving something like:

F(Xt,Vt) = a + BiXt + BaYt.

» Many DSGE solution methods use a particular version of this technique. They take
logs and then linearise the logs of variables about a simple “steady-state” path in
which all real variables are growing at the same rate.

» The steady-state path is relevant because the stochastic economy will, on average,
tend to fluctuate around the values given by this path, making the approximation an
accurate one.

» This will give us a set of linear equations in terms of deviations of the logs of these
variables from their steady-state values.
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Equilibrium and log-linearisation IV

» Remember that log-differences are approximately percentage deviations:

X—-Y
logX —logY ~ ——
og og y
so this approach gives us a system that expresses variables in terms of their
percentage deviations from the steady-state paths.
> In other words, it can be thought of as giving a system of variables that represents the
business-cycle component of the model! Coefficients are elasticities and IRFs are easy
to interpret.

> Also, believe it or not, log-linearisation is easy.
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Equilibrium and log-linearisation V
> From here, it's important to note down some notation. Let “hatted” variables (e.g. X;)
denote log-deviations of variables from their steady-state values, denoted by a “bar”

(e.g. X): ) )
Xt = log X; — log X.

> The key to the log-linearisation method is that every variable can be written as:
Xi - ¢
Xe = X2 = X,
X

and the big trick is that a first-order Taylor approximation of tis given by:

XtN1+Xt
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Equilibrium and log-linearisation Vi

> So, we can write variables as:
Xe ~ X(1+ Xy).

» The next trick is for variables multiplying each other such as:

because you set terms like X;¥; = 0 since we're looking at small deviations from
steady-state and multiplying these small deviations together gives a term close to
zero.

» Anything else? Nope, that's it. It's also worth noting, however, that there are a few
ways to do log-linearisation. The above gives a short-cut, broad picture approach to
log-linearisation.
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Equilibrium and log-linearisation Vi

> “A Toolkit for Analyzing Nonlinear Dynamic Stochastic Models Easily” Uhlig (1998)
gives a very rigorous treatment of log-linearisation.

» It's probably best that we go through a few examples (and that you practice) in order
to nail down how log-linearisation works.

Planner’s Problem




The Taylor expansion (standard) method |

» Consider a nonlinear model that can represented by a set of equations of the general

form
G(X;)

H(Xt)’

where X; is a vector of the variables of the model that can include forward-looking
variables and lagged variables (jump and state variables, respectively), in addition to
contemporaneous variables.

» The process of log-linearisation is to first take the logs of the functions F(-), G(-), and
H(-), and then take a first-order Taylor series approximation.

F(X;) = (22)
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The Taylor expansion (standard) method I

» Taking logs of (22) gives:
In F(X;) = In G(X;) — In H(X,),

and taking the first-order Taylor series expansion around the steady state, X, gives

In F(X) + ';((;(()) (X; — X) ~ InG(X) + GG((;(())(xt —X) —InH(X) — HH((;(()) X; — X),

where the notation X’(X) is used to indicate the gradient at the steady state.
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The Taylor expansion (standard) method IlI

> Notice that the model is now linear in X;, since F'(X)/F(X), G'(X)/G(X), H'(X)/H(X),
In F(X), In G(X), and In H(X) are constants. Since the following holds:

In F(X) = InG(X) — In H(X),
we can eliminate the three log components and the previous expression simplifies to

CGX),, o HE) . .
FX) (X: — X) ~ 6(X) (Xe — X) HX) (Xt — X).

» The implicit assumption here is that if we stay close enough to the steady state, X, we
can ignore the second-order or higher terms of the Taylor expansion - i.e., a
first-order approximation is sufficient to capture the dynamics of the model.

> Let's work through some examples.
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The Taylor expansion (standard) method IV

» Example: The production function. This method works particularly well when you
have multiplicative terms. So let’s start with our production technology:

Y: = AKe NG9, (23)
and then take logs:
log Y; = log As + alog Ky, + (1 — ) log Ny,
where we know that

X; — X

InX; = InX + X

and so we have:

Ve - K, — K

InY + R

a[lnl_(—i— }+(1—a){lnN+ _
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The Taylor expansion (standard) method V

and we know that in the steady-state we have InY = InA +aInK + (1 —a)InN, so

Y;—Y A -A  Ki_,—K N; — N
= ~ = + « = +(1— « =
Y A K ( )
p=— Yt = At —+ OéKt_1 + (1 — Oé)Nt. (24)

> Example: The growth model. Consider a simple growth model where the
representative agent maximises

ZB C:U_N1+§D
1—0 1409

subject to the budget constraint,

Ce = ALK N~ + (1 — 6)Ke_q — K. (25)
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The Taylor expansion (standard) method Vi

The first-order conditions are:

Ci 7 = BE¢ [aAc KT 'Ney + (1 - 0)] G5, (26)
N = C;7 [(1— a)AKe N ] . (27)

Taking logs of the budget constraint and first order conditions gives:

InCe = In [AKE N~ + (1= 8)Ke—q — Ke]
—oInC=InB+In [aArKY Ny + (1= 6)] — oInCepa,
eInNg = —oInC+In(1—a) + InAr + alnKe_; — acln Ny.
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The Taylor expansion (standard) method Vi

Then, take the first order Taylor expansions about the steady state (this is always an
algebraic nightmare):

_ 1 _ L _ _ RaN’lfa _

INC+ =(Ct — C) = In [AK“N"™ @ + (1 — K — K| + =—— (A, —A

(G- Qxn} (1= o)k = K] AKaN1*a+(1—5)K—K( = A)
QAKT N 1§ _ (1 — a)AK*N~

(N — N)

+ === ——(Ki_q — K

AKO‘N1*O‘+(1—6)K—K( t=1 = K)
_1 —_

SR __ (K — K),

AK"‘N1_"‘+(1—(5)K—K( e~ K)

+ === = =
AK“N'"™ 4+ (1—-90)K - K
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The Taylor expansion (standard) method ViII

—aInC — U%(Ct ~C)=Inp+ ; +In (@A TN 41— 6)

ak* "N _ (@ —1)aAK* >N
+ —= = A —A) + —= _
QAR TN 41— 5 Ae = A) QAR TN 11— 5
(1 — a)aAK* "N~
aZ\Ra_1N1_“ 1—-6
_ 1 — (0]
gpInN—i—goﬁ(Nt— N) ~ —aInC—UC(Ct C) + In(1 —a)—i— — —HnA—i- (At A)

(K: — K)

(Nepr —N) —oinC - UC(Ct+1 0),

+aink+ a=(Ki_, — K) —aInN—aN(Nt N).

ANl =
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The Taylor expansion (standard) method IX

> Use steady state identities to get rid of the logs, and clean up:

& 1 . +al'<“”N1*a+1—5A  1-a &
t 13 (R/N)Fa t KN _ 5 t=1 1—46 (R/N)Pa t (28)
1 N
- ﬁKﬁ
(K/N)* "5
. aK* N1 A a—1)akK* "N
—0Ct = — =12 EtAtiqa + (—aq ZFa Kt

EtNeyq — 0BGy,

al_(a—’IN’l—a 41— 5
(pNt = *O’&t + A\t + Oékt,-l - OéNt (30)
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The Uhlig method |

> Asyou can see, the standard Taylor expansion method is extremely cumbersome.
Uhlig (1998) recommends using a simpler method for finding log-linear
approximations of functions. His method does not require taking derivatives and
gives the same results as the above method.

> We actually covered this briefly before. But just for clarification, consider an equation
of a set of variables, X;. Define X; = InX; — InX. One can write the original variable as

X; = Xexp {)A(t} ,

since
_ .~ _ _ X o
Xexp Xy = Xexp {InXt — InX} = Xexp {In (){)} = XX¢/X = X
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The Uhlig method Ii

Let's look at an example:

and this becomes o
AB“ A N ~
oo {At +aB, — 5ct} .
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The Uhlig method Il

> Now we take a Taylor expz_ansion of the exponential term around the steady state -
thistime it's X =InX —InX = 0!
exp {Z\t + aB; — 5@} ~ exp {2\ +aB — 56} + exp {2\ +aB - 5&} (Z\t — Z\)

—&—aexp{l\—l—aé—éé}(IABt—é)—dexp{i\—i—aé—é&}(ét—C)
:1+2\t+a§t—5ét.

» Thus:

N po N po

AEB;exp {,Z\t +aB; — (5@} = A; (1 + A+ aB; — 5Ct> :
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The Uhlig method IV

» Example: The production function. Suppose we have:
Y = AKE NGO
Substitute X; = X exp {)A(t} for each variable:
Y exp {?t} = AK“N""“ exp {Z\t +aki_, + (1 - a)Nt}
This is approximated by a Taylor expansion (using the “Uhlig method”):
Y(1+ V) = AK*N'"® (1 + A+ ake_,+ (1 - a)Nt) ,
Since in steady state we have Y = AK“N"~“, we can then write:

Vt = At + Oékt,»l + (1 — Oé)Nt
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The Uhlig method V
> Example: The resource constraint. Start with
Ye=C+ I,

now, we could take logs and then do some total derivatives to log-linearise, but it's
far easier to use the methodology explained above (often referred to as the Uhlig
method). Rewrite our equation as:

ve' — Celt 4 Tek
S Y+ %) =C1+C)+1(1+1y),

and we know that in the steady-state Y = C + I, so terms cancel out, so
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The Uhlig method VI

» So, in summary, his rules are:

exp {)/\(t + a?t} ~1+ )A(t + a?tv (31)
)A(t?t ~ O, (32)

EXerq =X (1 + Et)A(t—H) . (34)
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» This method is a bit of a headache, but it does come in handy when we have to deal
with messy expressions. It essentially uses the fact that the differential of a variable,

say X, about its steady-state can be written as )l?dXt, where dX; = X; — X.
> Again, it's better to demonstrate this, so let’s take:

and don’t bother taking logs (since we don’t have to deal with any power terms); just
take the total derivative:
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The total derivative method II

and then divide the LHS and RHS by R, and then do some manipulation to the terms
on the RHS:

2Ky K|

Dl = = =

a¥ /0
R :::(Y—K,).
t R K t t—1 (35)
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> Now let’s look at the Keynes-Ramsey condition since it has an exponent term:
Ct 7 = BE: [CORe)

and then take logs:
—0 |n Ct = |n B — O'Et |n Ct+1 —+ Et |n Rt+17

then take total derivatives:

—0 —0 1

—dC; = —E;dC;, + =E:dR

C t C t t+1 R t t+1

G—C_  ECua—C ERs—R
C C R

*Uét = *UEtétJﬂ + Etf\’tﬂ

& —0

. . 1
Ct = ECrpq — gEth+1~ (36)

Again, not too difficult since the terms were multiplicative.
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» We won't use this method for the RBC model, but it can come in handy in future
applications. Consider the following non-linear first-order difference equation:

Xt = f(Xi-1),

where f is any non-linear functional form you can think of (something not too crazy,
though). A first-order Taylor expansion of the RHS about the steady-state gives:

Xe = f(X) + ' (X)(Xe—1 — X),

and in the steady-state if we assume X = f(X),then our Taylor expansion becomes:

~ X+ F (R) (X — )
@xﬁ ~ f'(X) X1 — X)

Planner’s Problem




Taylor approximation method: Single variable case Il
then divide this by X:

Xe—X o Xeoq — X
— ~ (X = ,
-~ (%)

X
and with a bit cleaning up we have:

Xe = ' (X)Ke_s. (37)
» Consider the following example:
Ke = (1 - 5)Kt—1 +AK?—17
and then apply the formula in (37) to get:

kt = [1 — 5 + CMAR(X?’I} kt—’l'
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» The Taylor approximation has a vector version as well as a scalar version. Suppose
have:

Xt = f(Xt—’h Yl’)7

where f is a non-linear function. The vector (bivariate) version of a first-order Taylor
expansion about the steady-state is:

Xe =F(X, V) + fx (X, V) (Xer — X) + (X, Y)(Ye = V),

and again, set the steady-state condition X = f(X, Y), and with a bit of rearranging we
get: B o B o B
Xe = X =fx(X,Y)(Xe—r = X) + (X, Y)(Yr = V),

and then divide through by X:

X, — X
X

(Xe—r — X)
X

= (X.7) IS e asRCt]
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use the steady-state trick on the second term on the RHS:
Xe — X v oy (Xe_a — X)
— = X’ Y)~—— % +
o = HE DT

and then clean up _
o RV - oY
Xe = fx(X, Y)Xe—n + fr (X, Y); t- (38)

» Consider the following example
Ki = (1— 0)Ki_q + SZtKi" 4,
and so taking partial derivatives and following formula in (38) gives (you can try and
verify it yourself):

kt = [(1 — 5) + aSZl_(aq] ktf’l —+ [Ska] 2t'

< NI
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» The full log-linearised system is given by following seven equations:

o Ca Ia
Y = = rl 5

t= 7y t+ . (39)
Ye = At + ake_q + (1 — )Ny, (40)
N T N
K = EIt + (1= 0)Ki_q, (41)
~ aY ra N
Ry = EE [Yt - Kt—1} ) (42)
o a 1 4
Ct = E¢Criq — gEth+1; (43)
Nt = Vt - Uén (42)

At = p/at,‘] —|— Et. (45)
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Log-linearised system and the steady state Il

> We are almost ready to take this basic RBC model to the computer (e.g., Dynare).

> We simply need to calibrate the model (macroeconomist speak for assigning values to

our structural parameters), and to solve for steady-state values.

» In other words, we need to obtain numerical values for %, %, %%
» We can do this by taking the original non-linearised RBC model and figuring out what
things look like along a balanced-growth path.

> Start with the steady-state interest rate. This is linked to consumption behaviour via
the consumption Euler equation:

C (e
1= BE; (t> Resq.

Corr
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Log-linearised system and the steady state lll

> Because we have no trend growth in technology in our model, the steady-state
features consumption, investment, and output all taking on constant values with no
uncertainty. Thus, in steady-state, we have C; = C;, = C, so
= 1
R=-.
p
In other words, in a no-growth economy, the rate of return on capital is determined
by the rate of time preference.

> Next, take the equation for the rate of return on capital (in period t):

(46)

Rt:Oé 1—5

Kt1

In the steady-state we have: B
= 1 Y

R=—-=a=+1-4,
5K
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Log-linearised system and the steady state IV

thus, with a bit of rearranging, we get:

%. (47)

=il =<

So we have

Xl 2
Xl <1

= (o] [0

(6%

:1_5(1_5)7

(48)
which is one of the steady-state values we needed.
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Log-linearised system and the steady state V

» Now, look at the law of motion of capital:
Ke =l + (1= 0)Ki-,

and use the fact that in the steady-state we have K; = K;_, = K, so:

=4, (49)

XNl —~1

which is also what we were looking for.
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Log-linearised system and the steady state VI

> Putting things together, we have:

- 1
| T 1) 0
— =K _ — - 71(1 7 (50)
Y % B46—1 BT 45 —1
and _ ~
C | ad
S =1 (51)
Y Y B 461
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» So the final, log-linearised RBC model is:

N ) A )
B +0—1

Ye = A+ akey + (1— o),

Ky = 01y + (1 — 0)Ky_s,

Re=[1- 81— 0)] [Vt — Ko

n n 1 .

Ct = E¢Ceq — gEtRHh

II\\It = ?t — Uét,

At = p;z\t_1 + Et-

B +685-1

:| Iita

(52)

(53)
(54)

(55)

(56)

(57)
(58)
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> We will explore the performance of this model via numerical simulation. But first, let's
compare this Ramsey social planner equilibrium to the decentralised equilibrium.

Planner’s Problem




The Decentralised Problem

Decentralised Problem




The decentralised equilibrium

» As | mentioned previously, there are alternatives in how to set up the RBC model, but
these will give us the same outcome.

» We will now setup the RBC model without the Ramsey social planner.

» General equilibrium will be achieved via competitive markets as households and
firms optimise over their endowments.

» Furthermore, | will make the assumption that firms own the capital stock in the
economy, while the households own the firms — again, whether the firms own the
capital stock or households own the capital stock, both will lead to the same outcome.

Decentralised Problem




Households |

> Let there be a continuum of households indexed by i € [0, 1].

> Each household allocates its time between work and leisure, and it picks a stream of
consumption {C;}:2, to maximise its present discounted value of lifetime utility.

» In exchange for supplying labour, households earn a competitive wage, w;, which they
takes as given.

> In order to insure themselves against any idiosyncratic risk, each individual
household can write and issue state-contingent securities, Bf, whereby the
counterparty is another household j # i.

> Because there is a continuum of households, and because financial markets are
complete, the households are fully insured against idiosyncratic risk.

* |n other words, these securities can be considered as Arrow-Debreu securities.
» The only risk they face is the risk arising from aggregate shocks, A;.

Decentralised Problem



Households Il

» Additionally, in equilibrium, securities are in “zero net supply”:

L
/ Bidi = B; = 0.
(0]

> All households write and enter into debt contracts with one another; however it's
because of this that overall - in aggregate - the sum of all debts must be zero in
equilibrium.

» Again, like most things in macroeconomics, things will be clearer after a bit of
derivation.

» In addition to taking wages as given, households also take the market clearing real
interest rate as given.

Decentralised Problem




Households Il

> Additionally, since households own firms, they earns firms’ profit in the form of
dividend imputations, D}. So, the household problem can be written as:

o0
max E; ) B°U(Ciis, Nivs),
{C;,NIPB;} s=0

subject to S ' . .
C+ B} < w;N} + D} + R;B}_,. (59)

»> Note the timing | have used in the budget constraint for the assets. Here | have
assumed “end-of-period” timing.

» This basically means that households start the period by inheriting assets B;_,, and in
the current period t they must pick the asset amount B;.
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> The assets they picked in period t — 1 pay out a gross real return of R; today, and
assets picked today, B, are expected to pay out a return of Ry, in the next period.

» Forming a Lagrangian by assuming that an individual's budget constraint (59) binds
with equality (and using the trick in (7)) gives us:

£ = U(Ch NiY + A (thQ +Di+RBL,—C— BQ)

+ BB (WesaNEa + Disy + ReBE — Gy — Bl )
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and the following FOCs:

LE=Uc(Ch - M=o, (60)
Ly = Un(ND) + Mw; = o, (61)
L = —A} + BEM1Rer = O, (62)
Ll = wNi + D} + RBL_, — Ci — Bl = 0. (63)

» These seem very familiar. They're essentially identical to the problem which the
Ramsey planner solved.

> Let's park them here for a bit — we'll return to them later.
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Firms and production |

» There is a representative firm.

* You can either think of a continuum of perfectly competitive firms that employ workers
and capital to produce, or you can just aggregate them all together to make one
representative firm since they all behave identically. It doesn’t matter in the RBC model.

» The firm wants to maximise the present discounted value of real net profits. It
discounts future cash flows by a household stochastic discount factor (SDF). The way
we'll define the SDF puts cash flows (measured in goods) in terms of current
consumption since these firms are ultimately owned by households and the
households care about consumption. Define the SDF as:

- (€
Mttrs = B°E Ue(Cts) s>t (64)

Uc(ct) l

where t is the current period.
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» Why do the firms use this formulation for the stochastic discount factor? Because this
is how consumers value future dividend flows. One unit of dividends returned to the
household at time t + s generates U¢(Cy, ) additional units of utility, which must be
discounted back to the present period, by 3°. Dividing by Uc(Ct) gives the current
consumption equivalent value of the future utils.

» But, look at (60), (62), and (64). If we combine these equations we can write:

Uc(Ct+1) _m

= ttt1, VI

Rt+1 = PEe UC(Ct)

> We just did something — well, a few things — pretty great.

* First, we have written an expression for the household’s FOC wrt assets B; using the
definition of the household’s SDF.
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* Next, we've managed to define the gross real interest rate as being the inverse of the SDF.
Recall back to your undergrad lectures and you should realise that for zero-coupon
bonds there is an inverse relationship between yields and prices. For these one-period
assets, you can basically think of the SDF as the price and R; as the yield.

= Finally, we have - admittedly in an ad-hoc and hand waiving way - managed to drop the
index i. This means that we can write the household problem using a representative
household setup!

» The firm produces output, Y;, with a CRS production function,
Ye = AF(Keq, Ny),

with the usual assumptions that we make. It hires labour, purchases new capital
goods, and issues one-period debt promises, D;. The firm also pays Rf on debt issued
in the previous period, and the interest paid on debt is equal to the interest paid on
assets due to a no-arbitrage condition.
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» The firm’s problem can be written as:

o9]
Vi= o T%XK ) Eq Z Mt tis [AtssF(Ke—ris; Nets) — WepsNeys — leps + Deys — RegsDeoays]
It Mt M s=0

subject to
Kt = It + (1 - (S)Kt,’l.
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» Rearranging the law of motion for capital, and substituting for I; in the objective
function gives us:

V=  max EtZMt e ( Aty sF(Ktrys: Neys) — Keps + (11— 0)Kp_q4i )

R
{N¢.Dy Kt} s—0 7Wt+SNt+S + DtJrS — Rt+SDt71+S

k
. A¢F(Ke 1, Nt) — Kt + (1 — 0)Ke—q — W¢N¢ + Dy — Rt Dy,
= max R
{N:,De.K:} | EtMg ¢4 (At+1F(Kt7 Niiq) — Kepq + (1 — 6)Ke — W qNeyq + Dy — Rt+1Dt)
which basically says that the firm’s revenue each period is equal to output, and that

its costs each period are the wage bill, investment in new physical capital, and
servicing costs on its debt.
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» The FOCs from the firm problem are:

oV
aNt AFn(Ke_q, Ne) — we = 0
= W; = AFn(Ki_q, Ny), (65)
oV
8T7i =1- EtMt,t+1R?+1 =0
— Uc(Cy) = BEUC(Corr)RE 1, (66)
OVy

- = — 1+ EtMe 1A aF(Ke, Neyq) + (1 - 6) =
K,

= Uc(Ct) = BEUc(Cean)AriaFi(Ke, Neg) + (1 0). (67)
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» Let's interpret these FOCs a bit. (65) is pretty intuitive: The wage rate w; is equal to the
marginal productivity of labour.

» However, look at (66) and (67) — they’re essentially the same, and must therefore hold
in equilibrium as long as the household is optimising. In fact they're directly
analogous to the consumption Euler equation or Keynes-Ramsey condition in (14)!

» This means that the amount of debt the firm issues is indeterminate, since the
condition will hold for any choice of D;. This is essentially the Modigliani-Miller
theorem (Modigliani and Miller, 1958): it doesn’t matter how the firm finances its
purchases of new capital — debt or equity — and hence the debt/equity mix is
indeterminate.

Decentralised Problem



Technology process

» In order to close the model, we need to specify a stochastic process for the

exogenous variable(s).
» The only exogenous variable in this model is A; — which is the same as before when

we solved for the Ramsey social planner equilibrium:

INA; = pInAi_q + & (68)
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> A competitive equilibrium is a set of prices {R;, w;} and allocations {C;, N¢, K¢, Dy, B¢}
taking K;_,, D;_,, Bt_4, A;_, and the stochastic process for A; as given; the optimality
conditions (60)-(67); the labour and bond market clearing conditions (N¢ = N and
B; = D;, Vt); and both budget constraints holding with equality.

» Consolidating the household and firm budget constraints gives:

Ct + By = W¢Ny + Re_1Bt_q + AtF(K¢—4, N¢) — WiN¢ — It + Dt — R¢_1D¢_4
= AiF(Ki—q, N¢) = Ce + I,

in other words, bond market-clearing plus both budget constraints holding just gives
the standard accounting identity that output must be consumed or invested.
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» If you combine the household’s FOC for labour supply (61) with the firm’s FOC, you get:
—Un(Nt) = Uc(Ce)AtFn(Ke—q, Nt). (69)
» The FOC for bonds/debt (67) along with the FOC for the firm’s choice of its capital
stock (66) imply that:
BEUC(Ctin) [AtaF(Ke, Neyo) + (1—6)] = BEtRf+1UC(Ct+1)a
which can be rewritten as:
REpr = AeprFi(Ke, Newr) +1— 6, (70)

which is what we proposed in (12).
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> Putting all the equations together, the equilibrium conditions for the decentralised

RBC model are:

Uc(Ct) = BEtUc(Cyn) [AtiaFi(Ke, Nejq) +1— 4],
Un(Ng) = Uc(Ce)AtFn(Ki—q, Ny),

Ke = AtF(Kt—q, Nt) — Gt + (1 — 6)Ki 1,

InAt = pInAi_; + &4,

Ye = AF(Ke_q, Ne),

Yi=C+ 1,
Uc(Ct) = BEtUc(Ceya)Resn,

Wy = AtFy(Ke_q, Ne),

Rt = AcFi(Ke—q, Nt).

Decentralised Problem
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(73)
(74)
(75)
(76)
(77)
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Competitive equilibrium IV

> But these are nothing the same as the equilibrium conditions for when we solved for
the Ramsey social planner. Why is this the case?

Decentralised Problem




First and Second Welfare Theorems of Economics
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Welfare Theorems |

» Recall the fundamental welfare theorems of economics from Mas-Colell, Whinston,
and Green (1995).

» The First Fundamental Welfare Theorem: If the economy is described by complete
markets, no externalities or non-convexities then every equilibrium of the
competitive market is socially optimal.

» The Second Fundamental Welfare Theorem: If household preferences and firm
production sets are convex, there is a complete set of markets with publicly known
prices, and every agent acts as a price taker, then any Pareto optimal outcome can be
achieved as a competitive equilibrium if appropriate lump-sum transfers of wealth
are arranged.

» The result that the competitive equilibrium of a representative agent economy and
that of a perfectly competitive one, that is otherwise identical, is not surprising.

Welfare Theorems




Conclusion

> Next class we will work through the problem set, and use Dynare to compute an RBC
model.

» If | give you a functional form for utility and production, as well as calibrated
parameters, you can simulate the RBC model on your computer!

» For further details on the RBC model, once again a very good reference is McCandless
(2008).

Conclusion
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